EXAMPLE FOR

APPLICATION OF THE ADVANCE AMORTIZATION RECOGNITION BALANCE

The table on page 2 shows the preliminary plan for the total principal payment to be made September 30 of this year.  There is a base (or “scheduled”) payment of $238,901,000 resulting from BPA’s most recent transmission and power rate filings.  This is composed of the items listed in lines 5 through 11 of the table.  In addition, the current plan is to use $262,412,000 made available by Energy Northwest bond refinancings to retire the bonds and appropriations listed in lines 14 through 18, which constitute the advance amortization payment.

Using the FY 2002 intended payment as an example, if BPA were to experience a significant cash shortfall at the end of FY2002, we would use the following approach:

1. The first option would be to reduce the advance amortization payment or eliminate it entirely.  If that portion of the payment was reduced, BPA would start eliminating items from the bottom up, beginning with all or part of the appropriations that comprise line 18.  While these obligations bear interest rates slightly higher than the bonds in lines 14 through 17 (see page 3 for the detail on the individual appropriations), BPA would likely focus on restoring the maximum amount of borrowing authority under the circumstances by repaying the bonds instead.  Elimination of any part or all of the advance portion of the payment would not warrant accessing the Advance Amortization Recognition balance.

2. If, after foregoing advanced amortization, the available cash was also insufficient for making the base payment, BPA would start at the bottom (line 11) and work up through the list.  However, given the nature of the items in this display, there may be some practical considerations.  For example, if BPA was to make only the base payment, the bond that is split between base payment and advance payment (lines 11 and 14) would likely not be paid and appropriations from page 3 totaling the $1,388,000 on line 11 would be paid instead. These appropriations would be the first to drop out when eliminating items from the base payment.  Similarly, the partial bond payment shown on line 9 would likely be the next item eliminated.  The next items to be eliminated would be the bonds on lines 8 and 10, which are not due.

Out of the remaining items, all of which are due in this year, the bonds on lines 6 and 7 have associated service lives remaining beyond the term of the bonds.  On line 6, the transmission construction bond is associated with transmission assets that BPA’s 1999 depreciation study indicated have a 40-year weighted average service life.  This is an original bond, issued in 1999, and would have 37 years of service life remaining.  In the event of a cash shortfall, this bond could be refinanced at the time.  The other bond (line 7) was the refinancing of a conservation bond issued in 1984.  BPA’s conservation assets have a service life of 20 years.  In total, 18 years of service life have elapsed between these two bonds.  Consequently, this bond and the appropriations, which have reached their “drop dead” due date, would be paid.

In this scenario, then, the minimum amortization payment would be for $89,913,000 (lines 5 and 7) and BPA would request AAR for the remainder of the base payment, $148,988,000 (line 2 less line 5 less line7).  
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